FORM 2 BIOLOGY MARKING SCHEME

1.a) Entomology;
b) Mycology;

2.	Bordetella partusis;
ii) Streptococcus pneumoniae;

3. Transpiration ; Diffusion; Exudation; Guttation; Deposition; Leaffall;

4. Anigen A; B; D/Rhesus antigen;
b) None; rej.Zero/O

5. Animals feed on already made food while plants make their own food;

6. Plasmodium vivax;

7. Hepatic portal vein;
   Pulmonary artery;

8. Small Bowman’s  capsule/Glomenuli;
   Long loop of Henle;

9. Epidermis;
b)i) Stem;
ii) Vascular bundles are scattered;

10. D - Ribcage
     E – Diaphragm
	The ballons are inflated

11. Circulating system in which blood passes through two capillary systems before flowing back to the heart/blood passes only once through the heart to complete it’s circuit in the body;

b) Fish; earthworm; ringworm; (accept any correct example)

c) Ostium /Ostia

12. Diffusion;

b)i) Brown colour of iodine persists

ii) Colour changed to blue black;

13. Catalase;

b) Respiration /By product of respiration /metabolic waste of respiration
c) Increase surface area for enzymatic digestion;

14. Removal of metabolic waste products;

i) Used in making malaria drugs

ii) Used in making malaria drugs

iii) Used in making rubber that makes tyres and shoes

15.a) i) Platelets

ii) Calcium ions

iii) Fibrin clot/fibres

b)	Reduces excessive loss of blood;
           - Prevents entry of microbes into the blood stream;

     c)i) Initiates the clotting process
          - Neutralises heparin (anti-clotting factor) and activities prothrombin to thrombin.

    ii) Activates conversion of fibrinogen to fibrin which forms a meshwork of fibres;
  
    16. i) Rate of photosynthesis is highest;enzymes work best as this is the optimum temperature;

    ii) Rate of photosynthesis is lowest; enzymes are denatured by high temperature;

    b) CO2 combines with hydrogen ions using ATP/energy from the light stage; to form glucose/amino acids/ fatty acids and glycerol 
   
   c) Has chlorophyll in the granum to trap light for photosynthesis; Has enzymes in the stroma that catalyse the process of photosynthesis;
    
  17.a)	Osmosis

b) a control experiment

c) Y: solution Y is hypotonic to the 5% sugar solution in the beaker; it loses water by osmosis to the solution in the beaker; decreasing in volume.

    Z: Z is hypertonic to the 5% sugar solution in the beaker; it draws in water by osmosis from the beaker; hence increasing in volume.

d) Cell membrane

e) The process stops as high temperature destroys the structure of the cell membrane

18.a) To investigate the gas liberated when food is burnt;
b) Drops of colourless liquid/water vapour collects.

c) Food is burnt down to produce water and carbon (IV) oxide

19. Respiratory surfaces (alveolus) are highly vasculanised /rich network of capillaries/well supplied with blood to maintain a steep concentration gradients for efficient exchange of gases:
  Have epithelial lining covered by a thin layer of gases i.e oxygen and carbon (IV) oxide gases for easy diffusion. 
 Have epithetial lining that is thin to provide a short distance for diffusing molecules for easier gaseous exchange. Alveoli offer a large surface area for maximum gaseous exchange since they are numerous in number in one lung for efficient exchange of gases; are permeable to respiratory gases to allow movement of gases.

20.
	Food substance
	Procedure
	Observation
	Conclusion

	Starch
	To a little amount of solution P in a test tube, add a few drops of iodine solution and shake
	Brown colour  of iodine remains
	Starch absent

	Vitamin C/Ascorbic acid
	To a little amount of DCPIP in a test tube, add solution P dropwise
	DCPIP is decolourised
	Vitamin C/ascorbic acid present

	Reducing sugars
	To a little amount of solution P in a test tube, add equal amount of Benedict’s solution and heat to boil
	Colour changes from blue to green, yellow , orange (accept one colour if correct)
	Reducing sugars present



b)	Scurvy

c)	-Boosts immunity
	- Prevents scurvy
	-Helps in synthesis of collagen fibre tissues
	- enhances absorption of iron
	-It is antioxidant
	-It quickens healing of wounds


21.a)  A- Cell wall
     
    B – Cytoplasm

    C – Cell vacuole

    D – Nucleus

b)   
	Onion epidermal cell
	Cheek cell

	Has a cell wall in addition to the cell membrane
	Has a cell membrane only

	Has large centrally located vacuole
	Vacuole absent

	Nucleus located at the periphery
	Nucleus located at the centre



c)i) The cells would appear shrunk/reduced in size and the cytoplasm would have pulled away from the cell wall.									(2 mks)

ii) The salt solution is hypertonic to the cytoplasm of the epidermal cells. The cells lose water by osmosis and become plasmolysed thus their cytoplasm shrinks.           (3 mks) 
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